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7 = f(z,y) =2(1-0.5y),
v = g(z,y) = y(—0.75 + 0.25z).



4

 clear; clf; N=100; T=30; t0=0; t=linspace(t0,T,N+ 1); h=t(2)-t(1);
 x=zeros(N+ 1,1); y=zeros(N+ 1,1); x(1)=2; y(1)=1;
f=inline('x*(1.0-0.5*y)",'t",'x",'y");

g=inline('y*(-0.75+ 0.25*x)",'t",'x",'y");

for 1=1:N
k11=£(t(i),x(1),y({));
k12=g(t(),x{),y({@);
k21=f(t(i)+ 0.5*h,x(i)+ 0.5*h*k11,y(i)+ 0.5%h*k12);
k22=g(t(i)+ 0.5%h,x(1)+ 0.5*h*k11,y(i)+ 0.5%h*k12);
k31=f(t(i)+ 0.5*h,x(i)+ 0.5*h*k21,y(i)+ 0.5%h*k22);
k32=g(t(i)+ 0.5*h,x(1)+ 0.5%h*k21,y(i)+ 0.5%h*k22);
k41=f(t(i)+ h,x(i)+ h*k31,y(i)+ h*k32);
k42=g(t(i)+ h,x(1)+ h*k31,y(i)+ h*k32);
x(i+ 1) = x(@)+h/6*(k11+ 2*xk21+ 2xk31+ k41);
y(i+ 1) = y(@)+ h/6%(k12+ 2xk22+ 2%k32+ k4 2);

End

plot(t,x,'kd-",t,y,'k*—"); axis([O 30 0 81); legend('Prey','Predator')






